

APPROXIMATING COMMON FIXED POINTS OF THREE ASYMPTOTICALLY QUASI-NONEXPANSIVE MAPPINGS IN BANACH SPACES

RAJNI BHARGAV

GOVT. M.L.B.GIRLS P.G. COLLEGE BHOPAL , M.P. INDIA

bhargav_rajni@yahoo.com

ABSTRACT

In this paper we have studied necessary and sufficient conditions for convergence of Ishikawa-type iterative sequences to a common fixed point of the mappings defined on a nonempty closed convex subset of a Banach space. Sequences we have considered involving three asymptotically quasi-non expansive mappings

Keywords : Asymptotically non expansive mapping , convex function , real Banach space , closed convex subset

1 Introduction

The mapping T is called non expansive if $\|Tx - Ty\| \leq \|x - y\|$ for all $x, y \in K$; and is called quasi-non expansive if $F(T) \neq \Phi$ and

$$\|Tx - p\| \leq \|x - p\| \text{ for all } x \in K \text{ and } p \in F(T).$$

It is therefore clear that a non expansive mapping with a nonempty fixed point set is quasi-non expansive and an asymptotically non expansive mapping with a nonempty fixed point set is asymptotically quasi-non expansive. The converses do not hold in general.

2 Preliminaries

Lemma 2.1 : Let E be a uniformly convex Banach space and $\{\alpha_n\}$ a sequence in $[\varepsilon, 1 - \varepsilon]$ for some $\varepsilon \in (0, 1)$. Suppose $\{x_n\}$ and $\{y_n\}$ are sequences in E such that

$\limsup_{n \rightarrow \infty} \|x_n\| \leq r, \limsup_{n \rightarrow \infty} \|y_n\| \leq r$, and $\limsup_{n \rightarrow \infty} \|\alpha_n x_n + (1 - \alpha_n) y_n\| = r$ hold for some $r \geq 0$. Then $\lim_{n \rightarrow \infty} \|x_n - y_n\| = 0$.

Lemma 2.2 : Let $p > 1$ and $R > 1$ be two fixed numbers and E a Banach space. Then E is uniformly convex if and only if there exists a continuous, strictly increasing, and convex function $g : [0, \infty) \rightarrow [0, \infty)$ with $g(0) = 0$ such that

$$\|\lambda x + (1 - \lambda) y\|^p \leq \lambda \|x\|^p + (1 - \lambda) \|y\|^p - W_p(\lambda) g(\|x - y\|) \text{ for all } x, y \in B_R(0) = \{x \in E : \|x\| \leq R\}, \text{ and } \lambda \in [0, 1], \text{ where } W_p(\lambda) = \lambda(1 - \lambda)^p + \lambda^p(1 - \lambda).$$

Lemma 2.3 : Let $\{\lambda_n\}$ and $\{\sigma_n\}$ be sequences of non-negative real numbers such that $\lambda_{n+1} \leq \lambda_n + \sigma_n, \forall n \geq 1$ and

$\sum \sigma_n < \infty$. Then $\lim_{n \rightarrow \infty} \lambda_n$ exists. Moreover, if there exists a subsequence $\{\lambda_{n_j}\}$ of $\{\lambda_n\}$ such that $\lambda_{n_j} \rightarrow 0$ as $j \rightarrow \infty$, then $\lambda_n \rightarrow 0$ as $n \rightarrow \infty$.

Copyright © 2013 SciResPub.

3 Main Results

Theorem 3.1. Let E be a real Banach space and K a nonempty closed convex subset of E . Let $R, S, T : K \rightarrow K$ be three asymptotically quasi-non expansive mappings with sequences $\{u_n\}, \{v_n\}, \{w_n\} \subset [0, \infty)$ such that

$$\sum_{n=1}^{\infty} u_n < \infty \text{ and } \sum_{n=1}^{\infty} v_n < \infty; \sum_{n=1}^{\infty} w_n < \infty \text{ and } F = F(S) \cap F(T) \cap F(R) \neq \Phi.$$

Let $\{\alpha_n\}, \{\beta_n\}, \{\gamma_n\}$ be sequences in $[0, 1]$. $\{x_n\}$ be defined as

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n) x_n + \alpha_n S^n y_n \\ y_n &= (1 - \beta_n) x_n + \beta_n T^n z_n \\ z_n &= (1 - \gamma_n) x_n + \gamma_n R^n x_n \end{aligned}$$

then

$$(1) \quad \|x_{n+1} - p\| \leq (1 + b_n) \|x_n - p\|.$$

(2) There exists a constant $M > 0$ such that

$$\|x_{n+m} - p\| \leq M \|x_n - p\|.$$

For all $n, m \geq 1$ and $p \in F$.

Proof : Let $p \in F$;

$$\begin{aligned} \|z_n - p\| &= \|(1 - \gamma_n) x_n + \gamma_n R^n x_n - p\| \\ &\leq (1 - \gamma_n) \|x_n - p\| + \gamma_n (1 + w_n) \|x_n - p\| \end{aligned}$$

$$\begin{aligned} \|x_{n+1} - p\| &= \|(1 - \alpha_n) x_n + \alpha_n S^n y_n - p\| \\ &\leq (1 - \alpha_n) \|x_n - p\| + \alpha_n (1 + u_n) \|y_n - p\| \end{aligned}$$

$$\begin{aligned} || y_n - p || &= || (1 - \beta_n) x_n + \beta_n T^n z_n - p || \\ &= (1 - \beta_n) || x_n - p || + \beta_n (1 + v_n) \\ &\quad || z_n - p || \end{aligned}$$

by these equations,

$$\begin{aligned} || x_{n+1} - p || &\leq (1 - \alpha_n) || x_n - p || + \alpha_n (1 + u_n) \\ &\quad [|| (1 - \beta_n) || x_n - p || \\ &\quad + \beta_n (1 + v_n) || z_n - p ||] \\ &= (1 - \alpha_n) || x_n - p || + \alpha_n (1 + u_n) \\ &\quad (1 - \beta_n) || x_n - p || \\ &\quad + \alpha_n \beta_n (1 + u_n) (1 + v_n) [(1 - \gamma_n) \\ &\quad || x_n - p || + \gamma_n (1 + w_n) \\ &\quad || z_n - p ||] \\ &= (1 - \alpha_n) || x_n - p || + \alpha_n (1 - \beta_n) \\ &\quad + u_n - u_n \beta_n || x_n - p || \\ &\quad + \alpha_n \beta_n (1 + u_n) (1 + v_n) (1 - \gamma_n) \\ &\quad || x_n - p || + \alpha_n \beta_n \gamma_n (1 + u_n) \\ &\quad (1 + v_n) (1 + w_n) || x_n - p || \\ || x_{n+1} - p || &\leq (1 + b_n) || x_n - p || \end{aligned}$$

Where

$$b_n = (u_n + v_n + w_n + u_n v_n + u_n w_n + v_n w_n + v_n v_n w_n) \text{ with } \sum b_n < \infty$$

(2) For any $n, m \geq 1$

$$\begin{aligned} || x_{n+m} - p || &\leq (1 + b_{n+m-1}) || x_{n+m-1} - p || \\ &\leq \exp(b_{n+m-1}) || x_{n+m-1} - p || \\ &\dots \leq \exp\left(\sum_{k=n}^{n+m-1} b_k\right) || x_n - p || \end{aligned}$$

Let $M = \exp\left(\sum_{k=1}^{\infty} b_k\right)$. Then $0 < M < \infty$ and $|| x_{n+m} - x^* || \leq M || x_n - p ||$.

Theorem 3.2. Let E be a real Banach space and K a nonempty closed convex subset of E . Let $R, S, T : K \rightarrow K$ be three asymptotically quasi-non expansive mappings with sequences $\{u_n\}, \{v_n\}, \{w_n\} \subset [0, \infty)$ such that

$$\sum_{n=1}^{\infty} u_n < \infty \text{ and } \sum_{n=1}^{\infty} v_n < \infty; \sum_{n=1}^{\infty} w_n < \infty \text{ and } F = F(S) \cap F(T) \cap F(R) \neq \emptyset.$$

Let $\{\alpha_n\}, \{\beta_n\}, \{\gamma_n\}$ be sequences in $[0, 1]$. $\{x_n\}$ be defined as

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n) x_n + \alpha_n S^n y_n \\ y_n &= (1 - \beta_n) x_n + \beta_n T^n z_n \\ z_n &= (1 - \gamma_n) x_n + \gamma_n R^n x_n \end{aligned}$$

then

$$\lim_{n \rightarrow \infty} || S^n x_n - x_n || = \lim_{n \rightarrow \infty} || T^n x_n - x_n || = \lim_{n \rightarrow \infty} || R^n x_n - x_n || = 0$$

Proof : Let $p \in F$ then by theorem4.1 and Lemma 2.3;

$\lim_{n \rightarrow \infty} || x_n - p ||$ exists. Let this limit be r . If $r = 0$; result is obvious by the continuity of R, T, S so let $r > 0$.

We claim

$$\lim_{n \rightarrow \infty} || S^n x_n - x_n || = \lim_{n \rightarrow \infty} || T^n x_n - x_n || = \lim_{n \rightarrow \infty} || R^n x_n - x_n || = 0$$

Since $\{x_n\}$ is bounded; $\exists R > 0$; such that $x_n - p, y_n - p \in B_R(0)$ for all $n \geq 1$. Now

by Lemma 2.2; we have

$$\begin{aligned} || z_n - p ||^2 &= || (1 - \gamma_n) x_n + \gamma_n R^n x_n - p ||^2 \\ &\leq \gamma || R^n x_n - p ||^2 + (1 - \gamma_n) || x_n - p ||^2 \\ &\quad - W_2(\gamma_n) g(|| R^n x_n - x_n ||) \\ &\leq \gamma_n (1 + w_n)^2 || x_n - p ||^2 + (1 - \gamma_n) \\ &\quad || x_n - p ||^2 \\ &\leq (1 + w_n)^2 || x_n - p ||^2 \\ || y_n - p ||^2 &= || [(1 - \beta_n) x_n + \beta_n T^n z_n] - p ||^2 \\ &\leq \beta_n || T^n z_n - p ||^2 + (1 - \beta_n) \\ &\quad || x_n - p ||^2 - W_2(\beta_n) g \\ &\quad (|| T^n z_n - x_n ||) \\ &\leq \beta_n (1 + v_n)^2 || z_n - p ||^2 \\ &\quad + (1 - \beta_n) || x_n - p ||^2 - W_2(\beta_n) g \\ &\quad (|| T^n z_n - p ||^2) \\ &\leq (1 + v_n)^2 || z_n - p ||^2 \end{aligned}$$

From Lemma 2.2

$$\begin{aligned} || x_{n+1} - p ||^2 &= || (1 - \alpha_n) x_n + \alpha_n S^n y_n - p ||^2 \\ &\leq (1 - \alpha_n) || x_n - p ||^2 + \alpha_n (1 + u_n)^2 \\ &\quad || y_n - p ||^2 - W_2(\alpha_n) g(|| S^n y_n - x_n ||) \\ &\leq (1 - \alpha_n) || x_n - p ||^2 + \alpha_n (1 + u_n)^2 \\ &\quad (1 + v_n)^2 (1 + w_n)^2 \\ &\quad || x_n - p ||^2 - W_2(\alpha_n) g \\ &\quad (|| S^n y_n - x_n ||) \\ &\leq || x_n - p ||^2 + C_n A^2 - W_2(\alpha_n) g \\ &\quad (|| S^n y_n - x_n ||), \end{aligned}$$

clearly $W_2(\alpha_n) \geq \varepsilon^2$ and $\sum_{n=1}^{\infty} C_n < \infty$
so $\varepsilon^2 \sum_{n=1}^{\infty} g(|| S^n y_n - x_n ||) < || x_n - p ||^2 + A^2$
 $\sum_{n=1}^{\infty} C_n < \infty$ i.e. $\lim_{n \rightarrow \infty} g(|| S^n y_n - x_n ||) = 0$.

$\lim_{n \rightarrow \infty} || S^n y_n - x_n || = 0$ as g is strictly increasing and continuous at 0.

Since S is asymptotically quasi-non-expansive,

$$\begin{aligned} || x_n - p || &\leq || x_n - S^n y_n || + || S^n y_n - p || \\ &\leq || x_n - S^n y_n || + (1 + u_n) || y_n - p || \\ \text{i.e. } r &\leq \lim || y_n - p ||. \end{aligned}$$

Also,

$$\begin{aligned} || y_n - p || &\leq || (1 - \beta_n) x_n + \beta_n T^n z_n - p || \\ &\leq (1 - \beta_n) || x_n - p || + \beta_n \\ &\quad (T^n z_n - T^n x_n + T^n x_n - p). \end{aligned}$$

$\limsup_{n \rightarrow \infty} || y_n - p || \leq r$. Therefore,

$\lim_{n \rightarrow \infty} || y_n - p || = r$ and so

$$|| \beta_n (T^n x_n - p) + (1 - \beta_n) (x_n - p) || = r.$$

We have, $\limsup_{n \rightarrow \infty} || T^n x_n - p || \leq r$, it follows from Lemma 3.1 that

$$\lim_{n \rightarrow \infty} || T^n x_n - x_n || = 0.$$

Also, we have

$$|| S^n x_n - x_n || \leq || S^n x_n - S^n y_n || + || S^n y_n - x_n ||.$$

Since S is uniformly continuous and

$|| x_n - y_n || \rightarrow 0$ as $n \rightarrow \infty$, it follows from above

inequality that $\lim_{n \rightarrow \infty} || S^n x_n - x_n || = 0$.

Similarly $\lim_{n \rightarrow \infty} || R^n x_n - x_n || = 0$.

References :

- [1] C.E. Chidume, Iterative algorithms for non-expansive mappings and some of their generalizations, *Nonlinear Analysis and Applications : to V. Lakshmikantham on His 80th Birthday*. Vol. 1, 2 (R. P. Agarwal, et al., eds.), Kluwer Academic, Dordrecht, 2003, pp. 383-429.
- [2] M.K. Ghosh and L. Debnath, Convergence of Ishikawa iterates of quasi-non-expansive mappings, *Journal of Mathematical Analysis and Applications* 207 (1997), no. 1, 96-103.
- [3] K. Goebel and W.A. Kirk, A fixed point theorem for asymptotically non-expansive mappings, *Proceedings of the American Mathematical Society* 35 (1972), 171-174.
- [4] K. Goebel and W.A. Kirk A fixed point theorem for transformations whose iterates have uniform Lipschitz constant, *Polska Akademia Nauk. Instytut Matematyczny. Studia Mathematica* 47 (1973), 135-140.
- [5] S. Ishikawa, Fixed points by a new iteration method, *Proceedings of the American Mathematical Society* 44 (1974), 147-150.
- [6] S.H. Khan and W. Takahashi, Approximating common fixed points of two asymptotically nonexpansive mappings, *Scientiae Mathematicae Japonicae* 53 (2001), no. 1, 143-148.
- [7] W.R. Mann, Mean value methods in iteration, *Proceedings of the American Mathematical Society* 4 (1953), 506-510.
- [8] W.V. Petryshyn and T.E. Williamson Jr., Strong and weak convergence of the sequence of successive approximations for quasi-non-expansive mappings, *Journal of Mathematical Analysis and Applications* 43 (1973), 459-497.
- [9] L. Qihou, Iterative sequences for asymptotically quasi-non expansive mappings, *Journal of Mathematical Analysis and Applications* 259 (2001), no. 1, 1-7.
- [10] L. Qihou Iterative sequences for asymptotically quasi-non expansive mappings with error member, *Journal of Mathematical Analysis and Applications* 259 (2001), no. 1, 18-24.
- [11] L. Qihou, Iteration sequences for asymptotically quasi-non-expansive mapping with an error member of uniform convex. Banach space, *Journal of Mathematical Analysis and Applications* 266 (2002), no. 2, 468-471.
- [12] B.E. Rhoades, Fixed point iterations for certain nonlinear mappings, *Journal of Mathematical Analysis and Applications* 183 (1994), no. 1, 118-120.
- [13] J. Schu, Weak and strong convergence to fixed points of asymptotically nonexpansive mappings, *Bulletin of the Australian Mathematical Society* 43 (1991), no. 1, 153-159.
- [14] K.-K. Tan and H.K. Xu, Approximating fixed points of non-expansive mappings by the Ishikawa iteration process, *Journal of Mathematical Analysis and Applications* 178(1993),no.2,301-308.
- [15] K.-K. Tan and H.K. Xu Fixed point iteration processes for asymptotically non-expansive mappings, *Proceedings of the American Mathematical Society* 122 (1994), no. 3, 733-739.
- [16] H.K. Xu, Inequalities in Banach spaces with applications, *Nonlinear Analysis. Theory, Methods & Applications. An International Multidisciplinary Journal. Series A : Theory and Methods* 16 (1991), no. 12, 1127-1138
- [17] Naseer Shahzad and Aniefiok Udomene, Approximating Common Fixed Points of Two Asymptotically Quasi-non expansive Mappings in Banach Space, Hindawi Publishing Corporation, Fixed Point Theory and Applications, VOL. 2006, Article ID 18909, pg 1-10